Worksheet 11 ) / 15 points

Name: SQ\\AA“ o\ § Section: 5 6
Compute the following:

@ g 9
/42—\/5+2dw = (% + 7% =9 +29- ({9 +2:4)

4
= 5418 -(11a)
/7‘2(7'3+1) dr = M

= s 2 - e ; = 2 s
S + C°dye - r(c +¢? e aw Seb u= €% Ahen du=3vzde

| % 'é‘C{,LL: YZG(T
fsin(@)cos((?) e '3"5 Wl |, 2 \7
= -gl_/_(_ - (r Jr\) + C
W= &nle) P Auv= Cenle) deo z (o '
- e Mele: This is the Seme
yuc‘b\i = l_L + C = M) + LO.S Hee j‘\\r\-ﬂ(_ answed, b
/{/gd z 2 Hhe  Coastand s c\i@ﬁe“ew—%)
—ds
. [ Zds =2 fotas = 2 A
- 5 | EA = 357+ C
1
1
—_— — = T |
/Omda: w= 3-7Lx ,c\kk 7 Ax D ,?:C\M:olx
i ; i
y \ { R -\ i
K — M = = Suhcm = - U & =-{1 +{3
Co3), @ = e, o
)3 Z
Y

'+
/(2x3—|—3$2)3 dr = 2521435 dmz x®h bx Ay = T duw=Kixdx




Compute the following:
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Find the area between y = cos(z) and y = 1/2 on the interval [0, 27].
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